
fer31−7n

fer31-5a

adaptation
O&M: 570
ts=0.1

logMo= −0,35[uλ−u545]2

logMa= logMo+0,09
uλ=(λ−550)/50

lin[sensitivity]
logLo = −0,35[uλ−u570]2

logLa= logLo+0,00
 [Lo, Ma]
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fer31-6a

saturation L
adaptation
O&M: 570
ts=0.1

logMo= −0,35[uλ−u545]2

logMa= logMo+0,09

lin[saturation]
logLo = −0,35[uλ−u570]2

logLa= logLo+0,00
 [Lo/Lo, Ma/Lo]
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fer31-7a

adaptation
O&M: 570
ts=0.1

logOo = −0,35[uλ−u595]2

logOa= logOo+0,09

uλ=(λ−550)/50

lin[sensitivity]
logLo = −0,35[uλ−u570]2

logLa= logLo+0,00
 [Lo, Oa, ]
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fer31-8a

saturation L
adaptation
O&M: 570
ts=0.1

logOo = −0,35[uλ−u595]2

logOa= logOo+0,09

lin[saturation]
logLo = −0,35[uλ−u570]2

logLa= logLo+0,00
 [Lo/Lo, Oa/Lo, ]
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